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!= Effl8;}g ufpF vfg] kfgL dd{t 250000 Effl8;}g ;fljs j8f g+= $ j8f %

@= la/v]t 8f8fag vfg] kfgL dd{t 200000 Effl8;}g ;fljs j8f g+= $ j8f %

#= 8f8fag v]t l;rfO kfOk vl/b 150000 Effl8;}g ;fljs j8f g+= $ j8f %

$= Nffldvfn b]lv af/sf8f ;Dd /f]8 8an sl6ª 1000000 Effl8;}g ;fljs j8f g+= $ j8f %

%= Ef}/j dlGb/ dd{t 100000 Nffldvfn ;fljs j8f g+= ! j8f %

^= Nffldvfn ;'jfn]s 36\nfO{ vfln uf]k3f6 ;8s lgdf{0f 1000000 Nffldvfn ;fljs j8f g+= ! j8f %

&= Nffldvfn :jf:Yorf}sL ef}lts ;fdfu|L / cf}iflw vl/b 200000 nfldvfn j8f g=@ j8f %

*= Tf]l8 b]jtfsf] dlGb/ 3]/ kvf{n lgdf{0f 100000 9s}rf j8f g=! ;fljs j8f %

(= sfnfvf]nf l;rfO kfOk vl/b 150000 9s}rf j8f g=! ;fljs j8f %

!)= 36\nfOvfln kf]vl/ 3]/jf/ lgdf{0f 100000 9s}rf j8f g=! ;fljs j8f %

!!=
Kff]Yofg cf]Nnf] / kNnf] cfkm/ clg 36\nfOvfln cfkm/ 

l6g vl/b
100000 Kffln j8f g+= ! j8f %

!@= ;Gg]O u0ofgL l;rfO kfOk vl/b 100000 Kffln j8f g+= @ j8f %

!#= aR5]ln b]lv lkmKt] x'b} ;fnl;g l;rfO kfOk vl/b 250000 Kffln j8f g+= @ j8f %

!$= l;/;fgf kfOk vl/b 100000 Kffln j8f g+= @ j8f %

!%= lkknsf]6 kfOk vl/b 150000 Kffln j8f g+= @ j8f %

!^= cf];fOn vfg]kfgL dd{t 75000 Kffln j8f g+= @ j8f %

!&= P}/fgf l;rfO kfOk vl/b 100000 lk8 ;f=j8f g+= * j8f %

!*= l;rfO kfOk v]ltvf]nf b]lv wo0ff 250000 lk8 ;f=j8f g+= * j8f %

!(= Nff6f b]jtfsf] dlGb/ lgdf{0f 200000 lk8 ;f=j8f g+= * j8f %
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@)= Dfi6f b]jtfsf] b]p3/ 3]/jf/ lgdf{0f 150000 lk8 ;f=j8f g+= * j8f %

@!= 8f]a/f vfg]kfgL dd{t 100000 lk8 ;f=j8f g+= * j8f %

@@= :ofnf b]lv sLd8f ;Dd ;8s lgdf{0f 1000000 lk8 ;f=j8f g+= * j8f %

@#= /f]n kf]vl/ lgdf{0f 250000 Tfnf/f ;f= j8f g+= % j8f %

@$= TflnufpF s'nf] dd{t 150000 Tfnf/f ;f= j8f g+=& j8f %

@%= ;'gufpF s'nf] dd{t 150000 Tfnf/f ;f= j8f g+=^ j8f %

@^=
Tfnf/f R.B.T b]lv ;f=sf] j8f g+=^ afnL;Dd vfg]kfgL 

lgdf{0f
350000 Tfnf/f ;f= j8f g+=^ j8f %

@&=
Tfnf/f ;fd'bflos :jf:Yo OsfO{ s]Gb|sf] 3]/jf/ 

vfg]kfgL t6\aGwg 
300000 Tfnf/f ;f= j8f g+=& j8f %

@*=
Tfnf/f afnL t6\aGwg blnt a:TfL eGbf dfly /f]8 

eGbf tn 
250000 Tfnf/f ;f= j8f g+=& j8f %

@(= Tfnf/f ;8s dd{t 400000 Tfnf/f ;f= j8f g+=& j8f %

#)=
Tfnf/f afnL ^ / & gDa/ j8f t/sfl/ v]lt l;rfO 

kfOk vl/b
150000 cf];fOn ;f= j8f g+= ^ j8f %

#!= TfNnf cf]nLufpF vfg]kfgL dd{t 200000 cf];fOn ;f= j8f g+= ^ j8f %

#@= Kffl/ cf];fOn l;rfO kfOk vl/b 150000 Kftgf ;f= j8f g== ^ j8f %

##= Kftgf l;rfO kf]v/L lgdf{0f 250000 ;f= j8f g== ^ j8f %

#$= hv8f l;rfO s'nf] lgdf{0f 200000 ;f= j8f g== ^ j8f %

#%= Zff/bf cf=lj=ejg / 3]/jf/ dd{t 150000 ;f= j8f g== ^ j8f %

#^= Jf8f sfof{nosf] ejg dd{t  225000 ;f= j8f g== ^ j8f %

#&= ;fd'bflos l;sfO s]Gb| Joj:yfkg 100000 ;f= j8f g== ^ j8f %

#*= lakt Joj:yfkg 300000 j8f %

#(= Dflxnf If]dtf ljsf; tflnd 150000 j8f %

$)= Jffnjflnsf If]dtf ljsf; v]ns'b k|ltof]lutf 150000 j8f %

$!= blnt ju{ If]dtf ljsf; tflnd 150000 j8f %

$@= Hf]i6gful/s ;Ddfg sfo{qmd 100000 j8f %

$#= ckfª\u If]dtf ljsf; tflnd 50000 j8f %
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